
1290 SUPER ADVENTURE R 2021 <2021><EU><F9903U6>
ACCESSORY PACK

56208

Pos Part Number Description Additional Text Quantity

0 00063004012 HEADLIGHT MASK BOX 1.00

0 00063004202 PRINT LABEL 60X51 MM 2.00

0 0021060003 Washer DIN9021-A 6.4 ONLY USA 2.00

0 0024060156 HH collar screw M6x15 TX30 ONLY USA 2.00

0 0024060206 HH collar screw M6x20 TX30 2.00

0 0125060003 WASHER DIN0125-A 6,4 2.00

0 0912080403 AH collar screw DIN0912 M8x40 2.00

0 0985060003 Self lock. nut DIN985-M6-A2 4.00

0 312305 DOCUMENTS BAG 2006 1.00

0 312313 KTM BALLPOINT PEN ORANGE 1.00

0 3210917 NOTEPAD 1.00

0 54603048100 clip nut M6 4.00

0 60006001021 Distance rupper airbox 03 6.00

0 60312040200 Mirror 2.00



0 60708008071 Special screw M5x14 4.00

0 61342041100 Collar bushing 6,5x9x18x8.5 8.00

0 61902180000 Handguard, left 1.00

0 61902181000 Handguard, right 1.00

0 61903090000 Skid plate 1.00

0 61903190033 Skid plate bracket front, cmpl 1.00

0 61908008000 Windshield 1.00

0 61912080000 Reflector, red self-adhesive 1.00

0 62002080051 COLLAR BUSHING HANDGUARD 2.00

0 62002080052 Handguard clamp, external 2.00

0 62002080053 Handguard clamp, internal 2.00

0 62142041000 DAMP. COMPONENT ABS MODUL 8.00

0 69014117000 Collar screw M6x22-8.8 ISA30 8.00

1 3214295EN Owner Manual 1290 Super ADV S 1.00

2 61929099000 Tool set 1.00


